[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

10 12 14 16 18 20

track x?

9] 1%} P 123 0
x X < x
[=} [=} o (5]
g g g B 8
= = s 5
] © - @
=
=]
o
1+
=} =] o v =}
T I T T
24 o 24 o
1
0992 4 6 8 10 12 14 16 18 20 092 4 6 8 10 12 14 16 18 20 099 24 6 8 10 12 14 16 18 20 0 2 4 6 8
track x2 track x2 track x2
r DO et step SRy
[ Nof reco track vs. Bé p|)l%t em-p FESOrEEYf\p cﬁﬂ) eta2p5to4p0 perset
g g g
5] S <
g S L EEE EEEEEEEEE R g
%) 3 %} Q
g g SIS
3
=3
o
LT T T Y I By
10
bl
o v o s o
I T I
o 24 o
1 jl
0. 0.




	Contents
	Page 1


